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17U/116/20(Set-3)
No. of Questions : 200
W @ W : 200
Time : 2% Hours ] [ Full Marks : 600
W 0 24 ) [ TUfF: 600

Note: (i) Attempt as many questions as you can. Each question carries 3 (Three)
m‘arks.. One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempted question.

IS F¥ B T B BT waS BT | g2 '
Hq?ﬁﬁuﬁ?%qﬁmmm;ﬁmmaﬂfmz

(1) I more than one alternative answ '
, ers seem to be approximate t
correct answer, choose the closest one. e e

uﬁmﬁﬁﬁaﬁﬂmvﬂ?uﬁaﬁﬂ%&aﬁmﬂﬁ%ﬁmwwil

(it} This paper comprises of four Sections : Mental Ability and General

Awareness Chemistry, Physics and Bi :
a ’ - r C Dlo &).tan ¥
Sechon contains 50 quEStiﬂnS_ &Y ( Y and 45{}0108)’}. Each

¥ W0 H g% @9 & Ao ohaar v wnn I R
mﬁﬁﬂ@ﬁvﬁﬁmmwmﬁmﬁrﬂmgﬁsomﬁ

SECTION - |
% - |
(MENTAL ABILITY AND GENERAL AWARENESS)
(RS e v wr s)
1. 34isrelated to 12 in the same way as 59 is related to

(1) 45 (2) 38 (3) 26 4) 14

34 &1 a7 129 T YR F & N R 59 a7 ey &

(1) 459 (2) 389 3 BT (g
™,

P.TO.
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17U/116/20(Set-3)

2. Which of the following is most energy-efficient source of light ?
(1) Tube light (2) CFL (3) LED {(4) Tungsten Buib
Pt o B AETE B 64l S -BaGeS Wd 8 7
(1) zg@ =mge (2) Mo THo THAo  (3) W0 go Fo  (4) TR Fedl

3. A girl facing north rotates 100 degree clockwise then 190 degree anticlockwise.
What is new direction of the girl ?

(1) North-East (2) West
(3) South-West (4) South
w wed! B HE SR R @ ek ¥ 78 98 A g D IgeR 100 B TR 7
A g T 9 g @ IR R & 3w 190 R wEh B o A W TF W

Ry 2?
(1) STR-gd @l 3 (2) o= A &R
(3) Rrr-oRem 1 AR (4) =B # IR

4. in the following chart given characters follow a cerfain trend, row-wise ar
column-wise. Find out the missing character (?) accordingly :

ﬁlﬁﬁﬁnﬁﬂéﬁmﬁmmﬁRAnﬁmﬁwﬁﬁa’dm%aw
m%mmqm(?)?wmw&mM?__

A D H
F [ M
» | N R
(1) K (2) N 3 O 4y I

5. The difference between cow's miik and buffalo milk is that
(1) Milk of cow is white but buffalo milk in yell{)wiﬁhlm colour.
(2) Milk of cow is yellowish but bullalo milk is white in colour. |
(3) Milk of cow is yellowish in colour but it contain more fat than#bu fffalo milk.
(4) Milk of cow is white in colour but it contain low amount of fat than buffalo
milk. |
@ g ol T B g8 F R fapafafiaa 2
(1) g @ qF B GT ahE 1 D r;granwﬁvamﬁgm el
(2) T m@wmm%mﬁ«m@mmmmg.
(3) Wﬁﬁlwmm%mwwﬁgmﬁzz?ﬁ?mﬁiﬂ
u ' . FIC (3] W qﬁ‘: - =l G Al \
@)qmweﬁtﬁq'\"?ﬁﬁm%ﬁqlgﬂﬁ =

(2)
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10.

17U/116/20(Set-3)

Which of the following crop is not utilized for commercial production of edible
oil?
(1) Wheat (2) Rice (3) Sunflower (4) Maize
1§ B4 fe AERRE w9 ¥ @ & gwre & g nge T8 e 8 ?
1y | (2) g (3) (4) HaB!
Find out value of ? in following :
ffe1 % 2 @1 5 @ B ?
12:30::14:?
(1) 30 (2) 28 3) 35 (4) 42

Which one will replace the question mark (?) ?
et o wes fore () & w9 R &7 By 7

(1} 36 (2) 48 (3) 38 (4) 30

Which among the following SAARC nations did not figure in the "World
Happiness Report 2017 ? -

(1) Pakistan (2) Bhutan (3) Afghanistan  (4) Maldives

e qu # A F g A e ey Rad <2017 § adf @ ?

() g 2) = (3) PN (4) W

Who is the author of the book "Winning Like Virat : Think and Succeed like
Kohli" ?

{1) Uday Mahurkar (2) Abhirup Bhattacharya
(3) Rajesh Jain | 4) Arvind Adiga
g R A% T < 9 TS et e P @ g g 82
(1) S8 TR () o werent
3) T (#) efiz st
(3)
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17U/116/20(Set-3)

1.

12,

13.

14.

15.

16.

At which of the following place union cabinet of India has approved to
establish a centre of International Rice Research Institute ?

(1) NOIDA (2) Kanpur (3} Varanasi (4) Pantnagar
R & T GfFEee 3 N F 9 we W o g oy Werr (IRRI)
T BF P e F@ @ @defa B ?

(1) s (2) @R (3) FRIORY (4) TR
Which country will host next Champions Trophy in 2021 ?

(1) Sri Lanka (2) Australia (3) Bangladesh (4) India
2021 % B Tr@ Afga=g 21 - 2021 7 e v ¥ fdw gw d @ ?
(1) s (2y areeferm (3) FTRW (4) WRd
Which is the first state in Ithe country to oper. a Blood Bank for Cattle ?

(1) Goa (2) Kerala

(3) Odisha (4) Andhra Pradesh

P 3§ atas wie vow & R iRt 9@ R wedw @ e @ ?

(1) (2) I

(3) anf¥em (4) 3T waw

Cause of AIDS is :

(1) Bacteria (2) Fungi (3} Virus (4) Amoeba
(W P FROT E

(1) d@@iRa (2) wHe (3) araRH (4) s

To make curd which microorganism is used ?

(1) Acetobacler (2) Leukonostoc (3) Bacillus {4) Lactobacillus
78 o # el & 9 e el @ 52 fen o @ 7

(1) Thaeraeer (2) Wgores  (3) afte (4) FCHEiES
From the following which makes milk sour ?

(1) Protozoa {(2) Bacteria (3) Virus (4) Nematod
By § A ed g1 g ww A £ 7

(1) ST (2) AR (3) ImeE (4) fARere

17. Gobar Gas mainly consist of :

ll) Methane (2) Ethelene
(4) Carbon Monoxide

(4)

(3) Acefeiene
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18.

18.

17U/116/20(Set-3)

e | # e g ¥
(1) Aa= (2) 3=
(3) e (4) T A sifeEngs

By which constitutional Amendment Act Fundamenta! Duties are incorporated
in constitution ?

(1) 42nd Constitutional Amendment Act, 1976

(2) 43rd Constitutional Amendment Act, 1977

(3) 44th Constitutional Amendment Act, 1978

(4) 45th Constitutional Amendment Act, 1980
mmﬁmmﬁaﬁﬁmmﬂﬁeﬁﬁﬂawaﬁaﬁmﬁﬁmw? ?
(1) 42q1 s e sRfem 1976

(2) 4331 wdwifre weinm afgs, 1977

(3) 4471 "y woue sffem, 1978

(4) 45491 Frfre wane sffmw, 1980

When joint meeting of Lok Sabha and Ra;) a Sabha are being held ?
(1) When President calls

(2) When there is opinion difference in Lok Sabha & Rajya Sabha
(3) When Parliament Session begins

(4) None of these

TG G A ) HITT ST pa @ 2 7

(1) <TsEaft w19 gemg

(2) QHEHT Td IO A TR B oy

@) GRITFAFEET T . -

(4) 7 A 3 7@
Presidential election is controlleq by
(1) Lok Sabha SPEEIRET (2) Pl‘i.l‘l’l e Minister
(3) Election Commission (4) ! of P lia
- s Y Affairs

(5)
- PTO.
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17U/116/20(Set-3)

IR 98 H1 g [Erea [Far S ¢

(1) SFEmzE g (2) BETTHA GIRT

(3) foates amam g (4) EHE 4P & FA G
21. "Entrance of Asia"is:

(1) Saudi Arab (2) Taiwan (3) Turkey (4) Japan

TR BT WY §¥ FEAT &

(1) & ova 2) TTEAH (3) gl (4) ST
22. Which country is known as the 'Land of white elephants’?

(1) Laos (2) Thailand (3) Kenya (4) Myanmar

f&a 2w = W?ﬁlﬁﬁﬂ!ﬁ%ﬂ?ﬂm%?

(1) =i (2) oTgers (3) &= (4) H=R

23. In Computer Language, how many bytes are in one megabyte :

amgia%\wﬂwﬁnnarseﬁﬁ'ﬁmsdmﬁ?

(1) 1,00,000 ~(2) 10,00,000 (3) 10,24.000 (4) 10,48,576
24. Which one is not correctly match ?

(1) Darjeeling-West Bengal (2) Mount Abu — Rajasthan

(3) Kodaikanal-Tamil Nadu (4) Shimla-Uttar Pradesh

frer % & @t o= ad w8 8 7

(1) =fdfefT —go T (2) TNETE 3ITg, - AR

(3) dEEdId - dFeTg (4) R - IR G
25. Which country is known as "India of Europe” ?

(1) Spamn (2) France (3) Italy (4) Portugal

Qﬁmwm’%@%aﬁﬂ-wéﬂmﬂtm%?

(1) &7 (2) wiE (3) geell (4) geme

average marks scored by 3 students together, if in an examination

. ¢
26. Find out the u scored 80% marks and Riya scored 624 marks

Gaumva scorec 40% marks, Raj
and the maximum marks are 800 :

. @1 Sy v e F W A 40% 3w
::rr:ﬂf;?ﬁzq:‘iso%w ot Rar 3 624 91% ST [ 7o SR e 800 7

) 50 (2) 528 (3) 623 (4) 510

(6)
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27.

28.

31.

32,

17U/116/20{Set-3)

If a train of 200 m long running at 60 km/hr then how many seconds will it
lake to cross another train of 300 m long running in opposite direction at a
speed of 90 km/hr ?

(1) 8sec. (2) 14 sec. {3) 9 sec. (4) 12 sec.

TS YAme W 200 Ho et B TN 60 Bo/HR A TR ¥ e 2 7 @
mﬁsmﬁowgwmﬁmﬁ%ﬁﬁ%/ﬁ%ﬁﬂﬁmafﬁ‘t
R :

(1) 890 (2) 14 9o (3) 9% (4) 1230
IC chips in Computer are made of : |

(1) Lead (2) Silicon (3) Chromium (4) Gold
FRER | P B arel IC Ry e 1 A # 0

(1) e (2) [afermta (3) #ifrm (4) &=
Which of the following is not a language of Computer Programming ?
(1) V\:"LNDOWS (2) PASCAL (3) BASIC (4) COBOL
ﬁ'-ﬂﬁfﬁmﬁmﬂwnﬁmﬁwﬁw TE 8 ?

(1) ) I (3) My (4) PR
The planet which is closest to the earth is ;

(1) Mercury (2) Mars (3) Neptune (4) Venus
R UE o 5oft 3 wa e 2 2

(1) 3o (2) e (3) ) Iw

If NQXG means LOVE, then ECMG means .
Ik NQXG &1 31f LOVE 2, @ ECMG a7 a1 #hr -

(1) CALF (2) GOOP (3) CAKE (4) CALM
¥ind the odd one from the following :

fr & & I T T IR g |

(1) 16 (2) 80 (3) 64 (4) 36

From which date Goods and Sen x (GSTS ¥ :
ndia? an_ %m e NS e oeen implemented i
(1) 1April, 2017 (2) 1May, 2017~ (3) 1Jume. 20 ¢q)
wrea % e Rl & v W 90X (Rovodlo) 7 Riuy iy 5 WY, 2017
(1) 192007 @ IRD7 ) 1qm 2017 (g

(7) . Wfﬂv

PTo.
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17U1116/20(Set-3)

34. InIndia, Shri Ram Nath Kovind has been elected as :
(1) 12th President (2) 13th President (3) 14th President (4) 15th President
Wik W, N IR A @) g T
(1) 129 weafy (@) 13o wgmf (3) 14 wspufer (4) 1547 Igafe

35. The Union Budget 2017-18 was presented in Parliament of Incia by :

(1) Shri Arun Jaitley (2) Shri P. Chidambaram
(3) Shri Manmohan Singh (4) Shri Narendra Modi
Bt e 2017-18 Fees g wiRdra Wag ¥ Q0 fdar 77 7

(L) = @ou deed (2) # o FEaRH

(3) 3 wmEq fig (4) # W= 7R

36. In a class of 60 students, the number of girls is twice that of boys. Kamal, a boy,
ranked seventeenth from the top. If there are 9 girls ahead of Kamal, the
number of boys in rank after hum (s

60 BrET @ e N, wll B e weel ¥ g ¥ W, W 1@ agal B, W
D waved wraT W 2 AR A e ove W sw £ A 39 o0 A 9 AW
TSHT ) T B

(1 3 (2) 7 (3) 12 (4) 13

37. A class starts at 11 : 00 am and lasts till 2.27 pm. Four periods of equal duration
are held during this interval. After every period, a rest of 5 minutes is given to
the students. Thus, the exact duration of each period 1s :

(1) 48 minutes  {2) 50 minutes (3) 51 minutes  (4) 53 minutes
o ol A @ 11 1 00 & R W AR 2 doaR 27 e @ T § | 39 e

§ v oA & o) B B0 ) Fee U B e BEA I 5 BT A R
m'fﬁﬁ[%!mﬂfﬁﬁ,mﬂﬁ%ﬂwgﬁﬁz

(_1} 48 AT (2) 50 1 (3) 51 fy=e (4) 53 e

cember, 1990 is Sunday, what day is 3rd January, 1991 ?
l%ﬂﬁmg ar 3 saed, 1991 dF-ar e & ?

aft 3 (3) T
0 rcra (2) quaR 3) TEIR (4) wawaw

ag, 1i3rdDe
(1) Tuesddy

(8)
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39.

40.

41,

42,

17U/116/20(Set-3)

Pointing to an old man Sohan said, “His son is my son's uncle”. How is the old
man related to Sohan ?

(1) Father (2) Grandfather

{3) Brother (4) None of these

UF §¢ I P 3R 3T wve gY Wew e 2 et we N @ed B A
21" 78 QT A W | R ner iy 2 2

(1) T (2) are

(3) % ‘ (4) T 4 g8 § 7

World Population Day is observed on :

(1) June5 (2) July11 (3} October 4 (4) December 10

(1) SA5H (2) IMg 11 B (3) A4 B {4) R 10 B

The largest Indian Stale by area is :

(1) Madhya Pradesh (2) Maharashtra

(3) Uttar Pradesh {(4) Rajasthan
AT B AR AT & Gy 797 797 L

(1) == niw (2) HERTS;

(3) TR wawr (4) ORI

NNP is equal to :

(1} GNP + Depreciation (2) GNP - Depreciation
(3) GNP + Exports (4) GNP - Exports
U= Uq f IR 8T ©

(1) o ¢F @ + gy (2) oft g7 @ - &5
(3) W T § + Pt (4) o T -~ Proiw

Industrial Revolution started in England in :

(1) 16th century 1(2). 18th cin‘tfry (3) 17thcentury  (4) 194 century

Frave ¥ sraife ity o g€

(1) 160 et ¥ (2) 18K TR 4 (3) 174w 3
~ {9y~

4) 198 waredt »

T0.
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17U/116/20(Set-3)

44,

45,

46.

47.

48.

49.

5

The highest literate state of India is :

(1} Mizoram (2) Goa (3) Tripura {(4) Kerala
TN &) daifes Fferg oy 2
(1) sl (2) T (3) B (4) #T=

How many states are there in India 7
Iwd 7 e 5o € 7

(1) 29 (2) 27 (3) 28 (4) 25

What should come next in the following letler sequence ?
o= gl & w9 § @t = erm 7

AABABCABCDABCDEABCD
1 A (2) E 3) C 4) B

Which word will come in the middle if all of following are arranged
nlphabelicall}' as in the u*ny,ti:ah diclhnmry‘ 7

gty 4 R T ol & ) @Y oftreh Yed @y @ avimw ¥ craited ¥ o1l
ar PrA-T g WY A 7

Donkey, Donator, Donjon, Donate, Donative

(1) Donkey (2) Donator (3) Donjon (4) Donative
foday is Monday, atter 61 days it will be

(1) Tuesday (2) Monday (3) Sunday (4) Saturday
Ifr aret @WER 2 61 B @ ae @ 89 8r 7

(1} WTeran (2) WHAR (3) YRR (4) ufER

The average of five consecutive odd numbers is 61. What is the difference
between the highest and lowest numbers ?

afe dfg fRwe e gl o s o1 & ol We side @ e mn s
1 e P H T B 7
(1) 6 (2) 4 3) 16 (4) 8

0. A is B's sister. C is B's mother, D is C's father. E is D's mother. Then how is A

colated to D7
(1) Grandfather
(3) Daughter

(2) Grandmother
(4) Granddaughter

(10)
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92.

33.

17U/116/20(Set-3)

ABRTTRCBHHEIDCHNNEIEDB A& g7 wandi 9 A 1
D ¥ T |rawy & ?

(1) arar & ) @R (3) gt ? (4) nfe= &
SECTION ~ N
qug -~ |l
(CHEMISTRY)
(rare fasm)
Which of the following is an example of thermoset polymer ?
(1) Rubber (2) Nylon-66 (3) PVC (4) Bakelite
A W B a9 BT 16 sem 2
(1) &R (2) TrEir-66 (3) Wiy (4) ¥a@gT
Nitration of nitrobenzene gIves : :
(1) 1, 2-dinitrobenzene (2) 1, 3-dinitrobenzene
(3) 1, 4-dinitrobenzene (4) 1,2, 3-trinitrobenzene
SIETACNI SAUNIFVMESU G
(1) 1,2-3E 3R (2) 1,3 TR
(3) 1, 4-Trusglaais (4) 1,2, 3-gIsI5g awTe

Which of the following statement is false about benzaldehyde ?
(1) It reduces Tollen’s reagent

(2} It undergoes Cannizzaro reaction

(3) ltundergoes Aldol condensation

(4) It forms sodium bisulphite adduct

Tfosergs W Wl S Prafafe oo SREIE

(1) us e sl o) el wvar &

(2) 77 PATRY APfFm dm L,

(3) UE UeSTA WEEE odT &

(4) F WFETH aFGEPEE VST gy

Following reaction is known as CHEC OC‘H; 25 GH, + HyO
conc. HCl

(1) Rosenmund's reaction {2) Clemmensen reduction

(3} Waurtz reaction (4) Kalbg's reaction

)
PTO.
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17U/116/20(Set-3)

frifeifen sfifar & w0 i @ CH,COCH, 2718, ¢ H, + H,0.

conc.HCI
(1) Q@ o Affhm (2) PR 2TTa
(3) g5 afdfiran (4) @ & SRR
35. The correct order of stability of the given radicais is :

(1) tertiary > secondary > primary (2) lertiary > secondary < primery
(3) tertiary <secondary > primary (4) tertiary < secondary < primary
T T T @ wenfim wm wE e e

(1) Thae > wreafie > mafie (2) JORIS > ARG < TEAD

(3) TOR® < TRAET > WA (4) TS < HEafiE < e

9B. The most strained eycloalkane is :
(1) cyclopropane (2) cyclobutane  (3) cyclopentane (4) cyciohexane

LCEAEICR U IEC SN R
(1) Wigedetd () WEaET  (3) OEdEnRn () HEecieand

57. The IUPAC name of the compound HC=C-CH,CH=CH, 18

(1) 1-penten-4-yne (2) 1-pentyn-4-ene
(3) Allylacetylene (4) 1-pentene-5-yne
HU=C~CH,CH=CH, ® 1UPPAC T/ & :
(1) 1-9C-4-3me (2) 1-4eEa-4-59
(3) UEarAied (4) 1-9EF-5-3EA
58. Optical rotation of a racemic mixture is .
(1) Positive (2) Negative
(3) Zero (4) Temperature dependent
va Wt e @ siftcas W |
(1) AORTHAES (2) THRIHD
(3) (4) TUEF FR
having one iﬁbpropyl group s :
e compound :
- Tl; 5 9.3, 3-tetramethylpentane (2) 2,2-dimethylpentane
(3.] ; 2 3trimethylpentane (4) 2-methylpentane
(12)
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60.

61.

62.

64.

65.

17U/116/20(Set-3)

T AW GHE 89 B afres &

(1) 2,2,3,3¢engates (2) 2, 2-srgfAngendes

3) 2,2, 3-erRfmaiey (4) 2-FemEades

The monomer of natural rubber is :

(1) Chloroprene (2) Isoprene

(3) Butadiene | (4) Acrylonitrile

WIGRi® Y& BT (Hed & :

(1) =R (2) HigEn

(3) weTeTE (4) vpEArTERE

Which of the following polymers has ester linka ges?

(1) Nylon (2) 'Bakelite (3) Terylene (4) pvC
Frfafed ¥ ¥ frw agee # wrex wavew o 2 2

(1) et (2) ¥Pemse (3) afE= (4) Gish
Which of the following polymers has amide linkages ?

(1) Nylon (2) Teflon (3) Terylene (4) Polyurethane
trerferfea # 3 5w agem ¥ vEs Wi g o @

(1) et (2) SHeil (3) Hfem (4) dreigfRem
The process of vulcanization makes rubber :

(1) Soluble in water (2) Hard

(3) Soft (4) Less elastic

qEAAIBRo ST TR @Y g & e

(1) = % g (2) w&d

(3) FemaH (4) &7 dwER

The number of S-S bonds in sulphur trioxide trimer (S,0,) is :
HOB TS R (8,0,) T S-S g o) st

(1 3 (2) 1 . (3) 2 4 0
[nsulin is
(1) a carbohydrate (2) an amino wid
(3) alipid (4) aprutein|
' (13) J
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gfe= ¢
(1) 1% FwEtEgse (2) T PA TRie
(3) '@ fafrs (4) UE W
66. Dunston's test is used for the identification of :
(1) glycerol (2) acetone (3) glycol (4) ethanol
SEET BT T FEue uRTE B & ferg wan e g 7
(1) Fowsie (2) TieH (3) TAFH (4) 3o

67. Which of the strongest acid in the following ?
Frafafae § W& yadl e He-Ar 8 7

(1) HCIO, (2) H,50, (3) HCIO, @) H,S0,

68. The hardness of water is estimated by :
(1) EDTA melthod
(2) lodometric method
(3) lodimetric method
(4) Gel Permeation Chromatographic method
TS P FORG B A Hem (o1 VI g
(1) EDTA Ry g=
(2) smERfcs R g
(3) IASARH oy g
(4) oiq wHTTR emeihs fafr g

69. Hydrogen gas is not liberated when the following metal is added to dil HCI :
aaHClﬁﬁwWﬁﬁﬁmmﬂﬁwﬁ%mﬁ:ﬁwﬂﬁﬁ%?

(1) Zn (2) Sn (3) Ag (4) Mg
_ Jmporlant ore of zinc s : | | |
" (I:;pcalamine (2) eryolite (3) cassiterite (4) malachite

(1; PR (2) FAITT (3) @iievTET (4) HeliaTge

' ds electrophilic nitration is :
active to¥ar P
Most 1€ (2) nitrobenzene (3) toluene (4) benzene
(14)

71- [1) b enz'oic add
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72.

73.

74'

73.

76.

17U/116/20(Set-3)
g TEdvE fraat AR o v & 2

(1) oigd ar (2) FREISH (3) 2fge (4) &=
Acetone is mixed with bleaching powder to give :

(1) chloroform (2) acetaldehyde

(3) ethanol (4) phosgene

e YR B /Y TEeE &) fem | 2

(1) FERBH ) THRefeesms

(3) sTa (4) B

::J}uch of the following is used widely in the manufacturing of lead storage
attery ?

(1) antimony (2) lithium (3) arsenic (4) bismuth
ds wRA Il @ fmin § Preffe F § frger omge wa & gar o @ ?
(1) véhh (2) #frgm (3) A (4) frery

1% solution of KCl is dissociated to the extent of 80%. What would be the

osmotic pressure at 27°C (R = 0.0821 L atm K™ mol™; mol. wt. of KCI = 754
g/ mole)

KCl #1 1% Rews 80% o i oo gus &) 27°C W QRWRY g9 @47 &nn
(R = 0.0821 L atm K™ mol™; KCl &1 3R = 75.4 g/ mole)

{1) 821 atm (2) 82.1atm (3) 5.95atm (4) 59.5 atm

Half-life of a reactions is found to be inversely proportional to the cube of initial
concentration. The order of the reaction is ;

& ffear @ ey URMYS wiEar @ @9 @
. Wﬁmwalﬁ"?i

{1) 4 (2) 3 (3) 2 (4) 5

No. of electrons in 1.8 ml of water is ;

maﬂ.ﬂﬁeﬂﬁ;ﬁa‘;ﬁrﬁ#@r%;

(1) 602x107 () 301x10%  (3) 06023x10®  (4) 6020, 19
The volume mth of 1.5 N h}'d]‘ogen per(}xjde thlhﬂn is

15N SRS mmﬁmwﬁaﬁ;

(1) 48 | (2) 84 Grad._ 4 89

(15)
P.TO.
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17U/116/20(Set-3)

78.

79.

80.

The values of Vander Waals constant ‘a’ for the gases O,, N;, N11; and CH, are

1.36, 1.39, 4.17 and 2.25 L. atm. mole ' respectively. The gas which can mosl
easily be liquified is :

¥ 0,, N,, NH, aiix CH, @1 arex a1 fReris w136, 1.39, 417 4R 2.25 L.
atm. mole ! & | Wawy amwr | w@FA €1 diell T

When CaCQO, is heated at a constant temperature in a closed container, the
pressure due to CO, produced wili :

(1) Change with the amount of CaCO; taken

(2) Change with the size of the container

(3) Remain constant as Long as temperature is constant

(4) Remain constant even if temperature is changed

vF @z A ¥ Rer a9 W Wi CaCO, F W fEm W 8, CO, T & IR
Jdd— T4 .

(1) CaCO, & & 8 a1 4 yRad= & Tge |

(2) WF & JHR ¥ IRAI= ¥ TIAT |

(3) Rue w1 74 ta Tu Rex 2

(4) FER R %a & @9 IRARET B |

E° (reduction) values of the half cells Mg™ |Mg and Cl,| CI” are respectively
236V and 1.36 V. The E° value of the cell Mg | Mg* | |CL,|Cl"is :

¥ ¥ Mg® | Mg T Cl,| CI” @1 E° (youa) 1 e 236 V ea1 136 V &1
e Mg | Mg? | |CL, | CIT @7 E° 19 &

(1) 372V (2) 1V (3) 0.18V (4) 2.64V
81. Among the [ollowing, the paramagnetic is :
e 3 A AR # 2 _
ln I\EEIWOZ (2) 03 (3) NEO (4) 1(_01
2. When 1is oxidized by kdn(),{ in alkaline medium, I anvert.q into :
} ) 105 SR 2y 4 10
(M 1Y, :
(16)
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W& &R AqegE # MnO,” gR1 T 3ifRiige g 8, @ 1 gaerr 8
(1) 10, # (2) I, & (3) 10, # (4) 10 ¥

Which of the following process is used in extractive metallurgy of Mg ?
(1) Fused salt electrolysis

(2) Self reduction

(3) Aqueous solution electrolysis

{(4) Thermite reduction

Mgmmtﬁaﬁmﬁﬁﬁﬁﬂmaﬁmﬁ-ﬁmmraﬁ??
(1) vgve Hee getas el

(2) @ gga+

(3) vroi o= gaasiferm

(4) WigE AvEge

Types of bonds present in CuSQ,. 5H,0 are only':
(1) electrovalent and covalent
(2) electrovalent and coordinate covalent

(3) electrovalent, covalent and coordinate covalent
(4) covalent and coordinate covalent

CuSQ,. 5H,0 * dfve & yoR Iufkrd & Baa .
(1) §oeRReT 4 Piiere

(2) gTEddT U7 BRI Sl

(3) FAFEdT, Friv= Tu BRIfRe Priow
(4) DA< 1d BHEIT B

Isomers which can be interconverted through rotation around a single bond
are :

(1) conformers (2) diastreoisomets -
{(3) enantiomers - (4) positional isomers
g WfE gaerdive @ ﬂrﬂmqn#ﬁmﬂﬁaﬁ?ﬁﬂ? a PEy -
(1) BTHTH (2). SRR e
(3) wfRmE " (4) AT S

(17)

P.T.0.
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17U/116/20(Set-3)

87.

90.

The Cannizzaro's reaction is not given by :

(1) trimethyl acetaldehyde {2) acetaldehyde

(3) benzaldehyde (4) formaldehyde

P srffdar w8 g &

(1) igaidier gRcieseres (2) referws

(3) dufeezEs (4) BHlcseEES

Benzamide on treatement with POCI, gives::

(1} aniline (2) benzonitrile

(3) chlorobenzene (4) benzylamine

demgs POCL, @ |1 QT §

(1) TR (2) TAFTELET

(3) deiidull- (4) afrerg

Which of the following pairs give positive Toilen's test ?

(1) glucose, sucrose (2) glucose, fructose

(3) hexanal, acetophenone (4) fructose, sucrose
Prefamies § SF-a1 LM YA Clo TReTeT T & 7

(1) "o, IR (2) TENE, HEE

(3) e, TRIEIAH (4) e, g

Which of the following compounds reacts with ammonical solution of AgNO; ?
(1) 2-Butyne (2) 1-Butyne (3) Ethene (4) Ethane
et Al § § BT AgNO, B IR Bia @ Wl wfpar ¥ © 7
(1) 2-5gE=s (2) 1-ege”H (3) A (4) T
The cyclic polymerizaﬁon of acetylene produces :

(1) Benzene , {2) Cyclohexane

(3) Toluene (4) 1,3, 5-trimethylbenzene
Ry & BTG AGIER QT A

1) (2) WIS

‘4. ‘l., 3; 5-5:'-’&111‘5?%171&7
{3] ET(_:!E"‘:' ( ) 2

- (18)

gcollegeduniaa

—



81.

93.

94.

17U/116/20(Set-3)

Which of the following molecules has ali the three sp, sp® and sp® carbon
atoms ?

Prefefaa % & fbw amp % s & sp, sp? ok sp® T wwAT § 2

(1) CH,=CH-CH=CH, (2} CH,-CH=CH-CH,

(3) CH,-CH=CH-C=CH (4) CH,CH,CH,CH,

Acetylene is produced by carrying out electrolysis of potassium salt of :
(1) Acetate (2) Succinate - {3) Fumarate (4) Oxalate
eRifeels e SrefRmm oo o fRggn smves & 9w fvar sman &
(1) e (2) gfdge (3) wgAYe (4) Sfesee

The hydration of propyne in the presence of H5904 /H,80; produces.
WWHgSOJH@, @ SURRY F wemas a7 &
(1) CH;CHO (2) CH,CH,CHO (3) CH,COCH,  {4) HCHO

Geometrical isomerism is shown by :

(1) Alkanes ' _ (2) Alkenes

(3) Alkynes ' ~ (4) Aromatic hydrocarbons
RS SaTEeT faear e 2

(1) Tea7 &N (2) TeblH g

(3) Ted1Ed BRI (4) WAR® gieRT gr

The ozonolysis of 2, 3-dimethylpent-2-ene produces :

(1} Two molecules of aldehydes

(2) Two molecules of ketones

(3) One molecule of aldehyde and one molecule of ketone

(4) Neither aldehyde nor ketone

2, 3-igPergen-2-377 BT AEERYr dar #
(1) vfosergs 2 & a9 |
(2) A & [ I

(3) TRREETES FT (H 3 AR P 5y g 3y
(4) = o vReEEs ARk 7 & P |

(19)
PT.0
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17U/116/20(Set-3)

97.

98.

CH,

The TUPAC name of the compound H;C—CII-CI*I=CH? is

CH,
(1) 3,3, 3-Trimethylpropane (2) 1,1, 1-Trimethylprop-2-ene
(3} 3, 3-dimethyibut-1-ene {(4) 2, 2-dimethylibut-3-ene
CH,
l
H:,,(:-Ll*-cﬁ—cw2 @ [UPAC =M ¢
CH, ‘
(1) 3,3, 3-grgfemgamn= (2) 1,1, 1-gTEMhengedi-2-34
(3) 3, 3-IRMuETaE-1-57 (4) 2, 2-TERTEARE-3-¢7
Which of the following compounds exhibits cis-trans isomerism ?
(1) 2-Butcne (2) 2-Butyne (3) 2-Butanol (4) Butanal
Prfefad & @ S1-1 A® cis-trans THTE w&i¥a FEAT1 € 7
(1) 2-2129 (2) 2-xergH (3) 2-ageHfe (4) e
Ethane is produced during the electrolysis of potassium salt of :
(1) Succinic acid (2) Malonic acid
(3) Acetic acid (4) Fumaric acid
o e R dav & Riggq svved § S B W B
(1) i ard (2) AaNE A
(3) e a3t (4) TARS 3
Buna-Sisa: |
(1) Monomer (2) Trimer (3) Co-polymer  (4) Dimer
Buna-S & @ :
(1) oD (2) TR (3) WEEEAD (4) STEWR
100. Which of the following is a Natura! polymer ?
Ll] Bakelite (2) Nylon (3) Proteins (‘1) PVC
- F ADCE 4EAD B 7
e 4 BT G AR 4T |
) yadEe (2) AgeE (3) N (4) | 4 A
(20)
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102.

103.

17UN16/20(Set-3)

SECTION -1l
gvg -l
(PHYSICS)
(wiferes faems)
An inductor of reactance 19 and a resistor of 20 are connected in series o the
terminals of a 6V (rms) a.c. source. The power dissipated in the circuit is ;

1QWH$WMWMW$MW@6V&NJ$W
HTRT W | Ao ¥ e @ # ) aRow § P o @ 5 @

(1) 8w (2) 12W (3) 14.4W (4) 18W
In a permanent magnet at room temperature :

(1) Magnetic moment of each molecule is zero

(2) The indivudual moleculés have non-zero magnetic moment which are all
perfectly aligned

(3) Domains are partially aligned

(4) Domains are perfectly aligned
B B a9 Uy ey vy e ¥

(1) 7% v @1 geag g 9 2§

(2) ¥ AT IHVH D YRR Gy oyt 22 ¥ o ok ek o &
(3) e aive W B #) o - |

(4) m%mﬁﬂﬁl

Change in temperature of the medium changes :
(1) Frequency of sound waves
(2) Amplitude of sound waves
(3) Wavelength of sound waves
(4) Loudness of sound waves
UM B Y gRads 9§
(1) =P ol & amgfe o & ey 3
(2) & T BT FH 9T Saw &
(3) eafy a¥ef of aTRed 79 G )
(4) eafy oot B e 9g I b,

(21)
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17U/116/20(Set-3)

104. The displacement of a parlicle is given by x =(i -2)2 where X is in metres and ¢

in seconds. The distance covered by the particle in first 4 secondsis:
(1) 4m (2) 8m (3) 12m (4) 16m
Rl 01 a1 e x = (1—2)° Frefia R o 2, wel x frex ¥ den ¢ 99 H

T T R TRl 4 Ao H U ER T B T T
(1) 4m (2) 8m (3) 12m (4) 16m

105. An clectron is moving with an initial velocity 7= v, and is in a magnetic field

3= B, J. Then it's de Broglic wavelength.

(1) Remains constant
(2) Increases with time
() Decreases with lime

(4) Increases and decreases periodically

At gdat R qEiE 3T n—o, & R qredim &3 B=By] F R ¥
gl ST ) 2-Fel aXor ae

(1) AR | B

(2) wuz & WY qGl 8

(3) T P VR ETI 8

(4) apadi @ | et R wTh &

106. lloleis:

(i) an anti-particie of electron.
(2) a vacancy crea ted when an electron leaves a covalent bond.

(3) absence of free electrons,

(4) an artificially created particle.

iﬁ—aﬂ‘fﬂ%‘-

(
s A SrpRer
@ o e o

(22)
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107. }n a Young's double slit experiment, the source is white light. One of the holes
ts covered by a red filter and another by a blue filter. In this case :

(1) there shall be alternate interference patterns of red and blue.

(2) there shall be an interference pattern for red distinct from that for blue.

(3) there shall be no interference fringes,

(4) there shall be an interference pattern for red mixing with one for blue.

4 @ R v A W W@ e @ 2 @ fow @) o ek @ @ R T
t AR TR P e fhoex A | 39 draeen ¥ -

(1) ore e et 37 @ vy e ded &ht

(2) o T A T B Juw-ye qeae afdewer o @ |

(3) ¥ 0t wfdaor e 78 &b

(4) ¥ W R &N @ At dedt v A ¥ o ek ¥ Ridm @

108. When a horse puils a cart, the latter moves because of :
(1) The frictional force due to the road acting on thé cart
(2) The frictional force due to the road acting on the horse

(3) Ehhe pull of the horse on the cart being greater than the force of reaction on
e carl

(4) The pull of the horse being greater than the force of reaction on the horse

o gigi MGl @) Fhaa 3, @ ) fe BRe @ i B 2

(1) oo & ¥ 97 B M w By = @

(2) UsE & TG T @ B W 7 = D

(3) °1$ gRI WEA T a8 ME R T ot WA= o707 A a0a 23 3 o
(4) 91 g1 W @7 9o B W Y Wil WRRELAR § IR BN @ s

109. If the time period of a simple pendulum is T its kinetic energy is also periodic
with a time perjod :
Uh HMRY Wl B el ofdd T & o Sud Mo st f ekt o qwr
SHET adl B BT

(1) 2T @ T @ L T
(3) 5 () 1

110. For light diverging from a point source :
(1) The wavefront is spherical
(2} The intensity increases in propartion to the distance squared
(3) The wavefront is parabolic
(4) The intensity at the wavefront does not depend on the dista, .

(23)
PT.O.
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11,

112

113.

114.

s fag B W e B) were & forg
(1) d=emy Ty 2

(2) Faat gD B @l @ dquig A gt §
(3) TN Waew [@RiafE) 21

(4) T W e g PR A wRd

Two cells of emf's approximately 5V and 10V are to be accurately compared

using a potentiometer of length 40cm.

(1} The battery that runs the potentiometer shouid have voltage of 8V,

(2) The battery of potentiometer can have a voltage of 15V and R adiusted so
that the potential drop across the wire slightly exceeds 10V.

(3) The first portion of 30 cm of wire itseil should have a potential drop of 10V.

(4) Potentiomeler is usually used for comparing resistances and not voltages.

sy @ 10V s e g act & @ et @ g TRyE B9 R 400 Wit TG

F fveerd gy A T 2

(1) Rugmd) # I ¥ dTe €0 B deear 8V B ey !

(2) Enr ) deear 15V @ Wad & 9w R @1 §6 WOR FARIAT I I 8
B o @ Rt e P 10V & ofer o B

(3) i TR B TEel 50 Wlo HPT TR fmuTd 10V 81 AT

(4) Ry @ SuanT s ufRy @ gerr @ for fa oner @ fe & forn )

T'ne dimension of torque is same as that of :

(1) Impulse (2) Momentum  (3) Power (4) Energy
ser Y R ol B, 9

1) g AT (2) W BB (3) ofda & & (4) &F B 2

1 mile/ hour speed is equal 10

(1) 4.46 m/sec (2) 0.447 m/sec
(3) 1612 m/sec (4) 3.213 m/sec
1 8t/ "eT B TR avIs 2

(1) 4.46 Mo /Fo (2) 0.447 Ho /o
(3) 1.612 e /Ho (4) 3.213 Hto /o

(, an inelastic collision of two objects the following is not conserved :
(1) Mo mentum (2) Total energy
) Kinﬂli{.‘ energy (4) Potential energy

(24)
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&1 ARG A ATy Tewy & iy @ w78 B -
(1) e (2) T Hut
3) oftw st (4) Refas st

115. T}Le h‘m!: T requ_jred ‘for a Planet to complete one revolution about the sun in an
orbit with' semi-major axis @ and semi-minor axis b satisfies the following

relation ;
TZ* ]"2 2 2
1 — — ——— T T T-
(1) y=const.  (2) p=const. (3) —y=const. (4) 57 = const.

U UE B G & U gamR Qof ok F T wqg o & o mer @ w3
mwaWM-ﬂwmbﬁm%ﬁmmaﬁﬁ?ﬁm?:

i . i .
) z=Reste @ Lofow -:_j:mw @ %ii:ﬁﬂ?fﬂi

116. For a sateliite in a circular orbit following conditions holds :
(1) Kinetic energy is greater than potential energy
(2) Kinetic energy is less than potential energy
(3) Sum of kinetic and potential energies is positive
(4) Sum of kinetic and potential energies is negative
Wmﬂmmﬁwmwﬁmm?}ﬂ@%%:
(1) vow oo Rufdm st @ ofres oxdr @
(2) s Forf Rerfrer ot / @ ) 2
(3) 7wt v Refds &t o1 A gereqws @ 2

(4) ST vd Refder ot @1 avr soomer e @

117. An organ pipe open at both ends has a fundamental fre
. . - quency 400 Hz. 1f one
end of the pipe is now closed, the fundamental fr uency will bzcome .

(1) 400 Hz (2) 200 Hz (3) 546 Hz (4) 500 Hz

v Iffe aferer @ Rl e g & aik 400
wwﬁwmwmﬁmmﬁﬁﬁm";‘%ﬁ; mﬁmélm

(1) 400 8551 - (2) 200 BEH (3) 546 BEH (4) 600 zoet

{25)
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118.

119.

120.

121.

122.

123.

124.

Two masses of 1 gm and 4 gm are moving with equal kinetic energies. The ratio
of magnitudes of Lheir linear momenta is :

Imam4mﬂaﬁahmﬁwuﬁmmﬁ%ﬂﬁmwé|m%&ﬁﬁﬁ
& GRATST FT g & o
(1) 4:1 Gy 2 (3) 1:2 (4) 1:16

If two adiacent walls and the ceiling of a rectangular room are mirror surfaced,
the number of images of himself as observed by an observer will be :

| Wmmaﬁamﬁq@mmwaﬁmwwmm

ST # W Qe grer o fAsdl @) W e S
(1} 3 (2) 5 (3) 7 (4) 9

A man whose weight on earth is 500 N, is lifted to a height of two earth's radii
above the surface of earth. His weight will now be :

vF are® R R el w500 N 2 SR garey g @) aTE PR P
Brem & < SO T o 99 # | S TR 3@ g
(1) 500N (2) 1666 N (3) 556N (4) 50N

A car rounds a curve of radius 40 m at 48 km/hr. The centripetal acceleraion is :

v R 40 Aoy Bom @& Mg vy W 48 ffte /Ho @ TR @ THE &1 ST
CEATES T

(1) 444 m/sec2  (2) 13.22m/sec?  (3) 168.7 m/sec’ (4) 243 m/sec’

The S.L unit of inductance times capacitance is :

(1) Second? (2) Volt (3) Ohm (4) Hertz
e x wfar B Rvsd sRRIsa 3% T
(1) S’ (2) aree (3) 3gH (4) 7T

A 15 p F capacitor is charged to 60V. The energy stored in the capacitor is:
G 15pfﬁiﬂmﬁﬂrﬁrﬁwa¢aﬂ&ﬁﬁmﬁ§1mﬁaﬁwﬁa¢migﬁ1ﬂ:
(1) 0.027] 2) 0.039] (3) 0.054) (4) 0.092]

A 2y F capacitor is charged to 20 V and then connected across a 6 p H inductor.
 aximum value of current is :
;l;eﬁ 5 Amp (2) 2.0 Amp (3) 155 Amp (4) 9.5 Amp

(26)
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szFmﬁmm?ﬁmﬁazovwmﬁﬁ?mW%aﬁvﬁuHmﬁm

frar <miar &1 o1 &1 ey A &
(1) 11.5 ofgaw (2) 2.0 ¢fgar (3) 15.5 vfApR (4) 9.5 vfgaw

125. The earth's radius is 6.37 x 10° m and the earth is 1.5 x 10* km away from the
Sun. The fraction of radiation emitted by Sun as intercepted by the earth is :

92l BT AT 6.37 x 10° %o & MR T ¥ 7 1.5 x 10° flo o w 2| gE W
IR g @ 9RO g 9w g, " ® L

(1) 451x10°  (2) 182x10°.  (3) 45x10°  (4) 621x 10"

126. Two balls are dropped vertically downwards from rest from the same point

af;er an ir\l:erval of 1 sec. If acceleration due to gravity is 10 m/ sec? , then what
will be their separation after 4 sec from the release of the first ball ?

(1) 30m (2) 335m (3) 25m (4) 40
ﬂﬁ%mﬂﬁ@ﬁlﬂoawﬁmﬁ%ﬁﬂm;ﬁamﬁ
To@ T 10 7/W 8, @ e B AR D 4 A R
fberl g8 &y 2 T
(1) 30+ (2) 353 (3) 25 (4) 40

127. A person moves 30 m towards North then 20 m Fast and then 30+/2 m South-
West. The displacement of the person from the starting point shall be :
(1) 20 m South-West (2) 15 m East
(3) 30 m North-East {4) 10 m West

Wwaﬂ#ﬂﬁ?ng;ﬁ@mmsoﬁﬁm' | |
4 & Sya1 fovemy= 8 gror-af¥em aoran 21 wefdee

(1) 204 gfE-ufiem (2) 158 yd
(3) 30 % Sev-yd (4) 10 % uftem

128. A bmall solid sphere when dropped in a viscous hiquid finally moves with a
uniform (constant) veloci ty, which is known as : L

(1) Escape velocity (2) Critical velocity

(3) Terminal velocity (4) Reyasld velocity

& BT 3 TP O Uo ¥ % ¥ vy wran & a9 arae

TR < T T &, R Y W g T T A (Rere)
(1) Goma= & @) wfe A

(3) D T (4) s ¥

(27)
PT.0.
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129.

130.

131.

Two simple harmonic motions in mutuaily perpendicular directions are super

imposed. 1f both of these motions have the same amplitude phase and
frequency. The resultant motion will be :

(1) A straight line inclined at 45° to both directions
(2} A straight line inclined at -45° to both directions

(3) A circle
(4) Anellipse

zﬁqwggmmmqﬁrmﬁﬁ@-qﬁmaawlif‘lﬁaa?rwﬂ§|uﬁa‘;-ﬁ$
memﬁmﬁﬁimsmcﬁmﬁn%#ﬁ:

(1) 291 et | 45° R 74 R
(2) O Rl @ —45° W A e
(3) U@ I

(4) TP Quigi

Different colours are exhibited by white light reflected from thin film of
kerosene oil floating on surface of water because of :

(1) diffraction (2) dispersion (3) interference (4) polarization

ﬁﬁﬂ&aaﬁmﬁaﬁww%ﬁwﬁﬁr@ﬁmmﬁﬁmmlﬁﬁa
Ar=r v @ PPwars UEs @ RO B
(1) cRagw (2) faedi (3) T (@) gdrm

The plane faces of two identical plane convex lenses each having focal lengths
of 40 cms are placed against each other to form a usual convex lens. The

distance from this lens at which an object must be placed to obtain a real
inverted image of the same size (magnification unity) :

(1) 80em (2) 40cm (3) 20 cm (4) 60 cm

40.#&%37‘“;@@&@.@1@[@@%?@&%%% g v vl §
%awmﬁ'ﬂmﬁw%%ﬁﬂﬁmﬁﬁ%ﬂ@wm%m

T@qﬁﬁﬂ,aﬁaﬁﬁmwmﬂmﬁﬁw}ﬁaﬁ:

%) 403 il 1) 60 <rh
(1) 80 (2) 408R 3) 20 () &0
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132. In Young's double slft interference experiment the wavelength of light used is
mm.vlf the path difference between the waves reaching at a point P on the
screen 1s 1.5 mucrons then at point P

(1) second bright band occurs (2) second dark band occurs

(3) third bright band occurs (4) third dark band occurs
ﬂﬂ?ﬁfiﬁiﬁ?ﬂﬁﬁwmﬁﬁmﬂ TR & wary o fhur ¥ af? o
% P ® 9o aeht awit @ mea qumw 1.5 7rgepi & o g Pue -
(1)%%%&&@? (2) fadta s aifi Rad &

(3) T g ariRelf Red # (4) T acra et fead &

133. The Brewster's angle for a glass slate (1 = 1.5) immersed in water (u=1.333) is:
T (k= 1.333) % g AW (0 =15 B Ry 3 By TR ooy &

(1) 56.31° (2) 33.69° (3) 20.6° (4) 48.4°
134. The electric ' int insi i
rad? :5 e;tm potential at a point inside a uniformly charged spherical shell of
(1) is constant (2) varies asr
(3) varies asi_ (4) varies as l-

e r
where r is the distance of the point from the centre of the shell.
Rﬁw$mmﬁaﬁ&mwma¥aﬁwﬁrﬁﬁﬂwﬁmma:

mﬁmlu' ¢ (2) r IR TRaRlE g 2
() = R Refr v 2 (@) — ¥ o e 2
el r el @ @ a A g @ gh g

135. Five resistances are connected as shown in &
- own jp.égeze below. .

ﬁ?mﬁﬁ“m@w@ww%lﬁﬁaﬁava%mmﬁmﬁ;g-
2 — |

(1) 60

PTO.
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136. The magnetic flux linked with a circuit of resistance 10002 changes by 500
Webers in 10 seconds. The amount of induced charge (in coulombs) that Hows
in this circuit during this time 1s .
B 1000 ST @ g ¥ Fer gy T 10 Vo F 500 A W IRl &
ST & ) 39 uRew W gad W § maed £ T AR SRy B FF T A
I

(1) 0.5 (2) 5 (3) 50 (4) 0.05

137. The common base current gain a of a transistor is 0.95. The transistor 1s
connected in CE configuration. What would be the change in coilector current
when the base current changes by 2mA ?

I’m%mﬁm%eﬁqwﬁﬁmi‘awmﬁwaf&mmmﬂo.%%ﬂvnm?«mwe
A gafre TEne Ams q e 'rwn%nufammmﬁzm;wﬁﬁ?a‘rzﬁ
yodr Ry | e gl g ?

(1) 1.9mA (2) 38 mA (3) 19 mA (4) 24 mA

138. The half life time for a radicactive substance is 5 hours. How much quantity of
the substance will decay in 20 hours 7

fedr Yea whrm o 9 sdemy 5 E¢ & zoﬁéﬁﬁugqumaiaﬁwﬁ?
(1) 9375%  , {(2) 625% (3) 75% (4) 25%

139. A concave mirror has a radius of curvature of 3 cm. The distance at which an
object must be piaced in order to give a virtual image magnified by 5 times, 15 :
(1) 1.8cm (2) 25cm (3) 1.2cm (4) 32cm
wWﬂwﬁWﬁwaﬁﬁ%imﬁm%WE@W?&Tm%
mﬁaﬁamwfﬁmﬁmﬁﬁ?
(1) 1.8 &1 (2) 2589 (3) 129 (4) 3.2a0

140. Which of the following statement about spectral line series of hydrogen atom 18

correct? .2 ‘

(1) Lymans ries is in 1nfrared region

2) paschen seres is in Visible Ft"ﬁlﬁﬂ : .

(3) Balmer geriés is parlly in wsxblf! region and partly in ultraviolet region
(:1) Balmer seis 18 in infrared region

(30)
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;EWUW$MHWMQWHWﬂﬁW*W$WﬁW
(1) amgs= o0 siavgg &5 3§ QO 2
(2) wremA o0 gy &3 o B 2-
(3) o vt Fif¥F gvw d9 aur HivE T &3 ¥ B @
(4) = ooft smava o & @ &
141, The knee-voltage (cut in voitage), a PN junction diode is -
(1) 0.2 volt for Si and 0.6 volt for Ge diode
(2) 0.6 volt for both Si and Ge diodes
(3) 0.2 volt for both Ge and Si diodes
(%) 0.6 voit for Si and 0.2 volt for Ge diode
felt PN-3ifRy srile & -y (®T 57 ) sr A BT 2
(1) %ﬁmﬁm$m02ﬁﬁmmﬁ%mm$ﬁﬂ%aﬁ'
(2) @™ va sofy <t srie & forg 0.6 dree
(3) S g feferme <Nl e @ Ry 0.2 9
(4) fofermm s @ fay 0.6 I TP TS B v 02 e

142. Two point charges Q and —2Q are placed at some distance apart. If the electric
field at the location of Q is E then the electric field at the location of -2Q will

be :

2 g I1Y Q 7 2Q ¥ I8 WA & AR O 2 F
. Q.Wq?ﬁ@f[ﬁafﬁ?n
N N

= by nustake " "“‘“‘.‘"“"“’ % connected in series and an ammeter jg ‘onnecteq ;
parallel with a resistance in an electrical circuit. Mlhay . wilj ha ed in
measuring instruments ? ‘ PPen to these

u] None of them will be damaged (2) B oth will ke damaged
(3) Only voltmeter willbe damaged  (4) Only amreter y, M
AMageqd

(31)
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Tordt B Rt R TR ¥ e ity B AeieEE # deedieR au HAFTRR 68 |
g o A o &) T SueRm 4 T/ yNg BN 7
(1) 39 Suaxvi] # | GIF @q 481 877 (2) T SUBIT BRI & A
(3) ®ua deciey @RE ER (4) Dael YR @E

144. Which one of the following particles will describe the circle of smallest radius
when these are projected with the same velocity perpendicular {0 the magnetic
field ?

(1) Li7 ion (2) He" ion (3) Proton (4) Electron

g Foi § @ B By X aE A @ g e vE B gEe
33 & wraga R A s @ A 9 vefte R e @

(1) Li* s (2) He* smma ~ (3) "M OB GEHR

145.  An electric iron {press) marked 2 kW and 250 Volt. The resistance of the heating
element of the press is:

(1) 62.50hm (2) 125 ohm (3) 31.25 ohm (&) 5x 10°ohm
@ faga s §RY) W 2 kW cen 250 dec aiftpa 2| TG FHG g BT HRE
T

(1) 62.5 3w (2) 125%™ (3) 31.25 3™ (4) 3x 10”3

146. The dimensiona! formula of universal gravitational constant Gis:
i TeamiT AU G o i T 8
: -2~ 1p3p=2
(M 2) ML (3) ML2T™? (4) M 'LT

147. The moment of inertia of a body about a given axis is 1.2 kg/mz. To produce a
" otational kinetic energy of 1500 joules starting from rest an angular

scceleration o = 25 rad/ sec must be applied on this body about that axis for a
ce

period of :
(1) 2 sec (2) 10 sec (3) Ssec (4) 4sec

?‘—{?fﬁﬂgﬂmwﬁﬂ#&a:ﬁﬁa 1.2 Remmo/Ao? ¥ | 3w 1500 7 goi+

;r“wemgar{aﬁ#aﬂﬁm aria @ o = 25 W/ Ho? 7Y vy Rug T 3q
il PRCISED EO OB 2
° ™ @) 103 (3) 5% @ 4 %o
0
(32)
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148.  If the RMS value of the AC voltage across the secondary of the transformer in a

half wave rectifier is 9 volt. The maxi
: : mum DC voltage across the | ‘
any filter is about ; B¢ : 2 without

(1) 10V (2) 4V (3) 8V | 4) 6V

ﬁﬂﬂwm&’r#maﬁmﬁqﬁWMaﬂaﬂﬁmaﬁ
(ROTHTHo) fava &7 w9 A= 8| afmR ot P (Stoditc) v &1 AFt T

T B @ B () aRew T e 2
(1) 109 (2) 49 (3) 83w | (4) 6dcc
149. impuri i i i
, 'IN‘he t);l;cnpm'lty a;{ounntls:mth which pure Germanium should be doped to make a
(1) Sodium (2) Boron (3) Antimony (4) Aluminium

WW(&JQ’Tﬁwﬁéﬁmmw ' ¢
N-YOR & dgured § azm oy - - ) ﬁww@&ds

(1) Wfeaw (2) FF (3) v (4) veyfafrm
190.  The moderator in a nuclear reactor functions in the following way :
g; ;23‘3::0::;1::3; - (2) Absorbs thermal energy
o i el o wi-:)T ;\t::-celcrates neutrons
(1) g 1 sz (2) @i FS FT Sy
(3) =t o nfr B = wvar @ (4) <G P T B qar 2y 2
SECTION - IV
v IV
BIOLOGY (Botany and Zoology)
ofta-frsm (xRt v sfer ey
151. Maltose is : ——
(1) Monosaccharide (2) Disaccharide |
(3) Polysaccharide e (4) Oligosaccharide
AT & ‘
(1) "rFedvEs . (2) IEHERE
(3) SrARETEE ©{4) SRS
(33)

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



17U/116/20(Set-3)

152. Androstenedione is produced in:

(1) Granulosa cells (2) Leydig cells
(3) Sertoli cells (4) Sperms
TRRReASTEal Saqmad 81 ¥ ¢
(1) geran e # (2) o et A
(3) RO Pl A (4) w3

153. Starfish belongs to phylum:
(1) Porifera (2) Coelenterata
{3) Protozoa (4) Echinodermata
cerfn e wrEEm & ofmia S ¥ 7
(1) TRHY (2) Rierexa
(3) A (4) gHTgASHC

154, Nerve net-system is found in
(1) Planarians (2) Insects - (3) Hydra (4) Earthworms

¢ Je Rrew mar oAt € ¢

(1) RTE § (2) B A (3) =TEF A (4) g ¥
155. Antibodies are produced by :

(1) Blymphocytes (2) Macrophages

(3) Tlymphocytes (4) Erythrocytes

Q";‘,TEI@ sanfaT Bl @

(1) B RFPRIEEE &1 (2) Fpreuid g

@3) T Rrrenges BT (4) TReETRTH &R

156. Most abundant white blood cells in human blood is :
(1) Basophils (2) Eosinophils (%) Neutrgphil;-—. (4) Monocyles
v TR A R S R ERCORE I
) yared (2y sahfrihed (3) “EFed (4) Rrivges

(34)
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157. Catecholamines are generally secreted from :

(1) Zona reticularis (2) Zona fasciculata
(3) Zona glnmerulusa (4) Adrenal medulla
BHATTE WA Wiy @ #
(1) s ¥gale § (2) S dfregereT @
(3) ST TerrERT @ (4) TEre Agen @
158. Ultra-filtration of blood takes place in:
(1) PCT of renal tubules (2) DCT of renal tubules
(3) Bowman's capsule (4) Loop of Henle
& ® Sen-heem afea g @
(1) e TYIw & PCT (2) 79 Tyegew & DCTH
(3) I F Py H 4) T B qu
158.  Urea is secreted into the medullary interstitiu from
(1) Descending loop of Henle (2) Ascending loop of Henle
(3) PCT (4) Collecting duct
IRy AT e 4 Wi B @
(1) & & Jwd a9 (2) TNy
(3) PCT & (4) wdfdTT s |
160. Inactive pancreatic trypsin is activated by : o
(;] HCl | o (2) Na"and K*
%%;rntemkmasem —— (4) Lipase
(1) HClgm (2) Na*TF B* g
(3) AT gRT T () R

181. Siroke volume of normal human-heart g .
UMFa WFE g4 @ IuTE & A 2 |
(1) 70ml (2) 40wl (3) 500 ml
; (4) ZSong

(35)
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162. Deoxygenated blood is carried from human heart to lung through :

163.

164.

(1) Pulmonary vein (2) Pulmonary artery
(3) Vena cava (4) Aorta
&Wﬁﬁﬁﬁmmwﬁmﬁéwm%:

(1) T BRT g™ (2) TR aEl g
(3) @1 dar gw (4) TIHITI X

Tricuspid valve guards the blood flow between :

(1) Rt Atria and Rt. Ventricle

(2) Lt Atria and Lt. Ventricle

(3) Rt. Ventricle to pulmonary artery

(4) Lt Venltide to aorla

CTEPRYS q/ed VT VAR Y ve B B
(1) «ifteh onfm yd «fE® Afwa @ 49
) i sy vd e 2ewd & 4

(3) =) AR FA | A IR D W
(4) " dfdwe & veiet 3 4

Cardiac output is increased by :

(1) Sympathetic neurons of ANS

(2) Parasympathetic neurons of SAN
(3) Cortisol

(4) PON

ifdad STSTIC AET ©

(1) ANG RRORT X &

() SAN® RfEveafed R FR

() FfEd g
(1) PONEN

(36)
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165. Inspiratory reserve volume of normal human lungs is :

WA WY B! B §EaTeRed) Refa Ao & -

(1) 500 ml (2) 2500-3000 ml (3) 1000-1100ml  (4) 3000-3500 ml
166. Binding of oxygen to hemoglobin is known as :

{1) Oxidation {2) Reduction

(3) Oxygenation (4) Oxido-reduction

AT @ forg Sifefior & T &) T o @

(1) sy (2) sru=am

(3) sifrafig (4) srRe-Remm

167. Which of the follow; R -
mg favours the dissociation
oxyhemoglobin at the tissue leve] ? of oxygen from the

(1) High pCO, (2) Low pO,
(3) High H™ concentration (4) All of the above
FOH W W Mg ¥ siedey @ @ W
k. TP PR & Ay § @ ww
(3) ST8 H' W (4) SR ot
168. In human, auloexcitable action POtential is genexakeduizst in -
(1) AVN (2) SAN o
(3) Bundle of HIS (4) Purkinje fibres
LICE mzﬁwmmimmfmmg# o
(1) AVN# {2) SAN #
(3) HIS® dea ¥ (4) = Brged
168. Bile salts are made in :
(1) Pancreas (2) Liver (3} Duodenum 4
1mmmﬁ§: ) ()51'ﬁmach
(1) =g ¥ (2) aga A (3) veolt # 4) Sy »
(3?) |

PT0.
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170. Animportant feature of human evolution is :

(1) Increase in hearl size (2) Increase in limb size

(3) Increase in brain size (4) Loss of tail

CECRCLaC Ik G E I

(1) §ad @ SR A yfg (2) fore & sTER A g

(3) "k @ R § T (3) o o1 &S
171, Which of the following is scienti fic name of Pheretima posthuma ?

(1) Leech (2) Neris (3) Earthworm  (4) Tapeworm

wHfem WReH (Pheretima posthuma) Bre F T RwE! WD A B 7

(1) 9% (2) R (3) w3 (4) P
172. Which one of the following is #ot an absorbent organ in humans ?

(1) Nictating membrane (2) Ear Shell muscles

(3) Flat front Leeth (incisors) (4) Vermiforms appendix

e @ A T et o 7E R 7

(1) PR (2) Tt wIELEE

(3) ¥R a1 Te 4fa (4) wifwi e

173. Biopsy is related with:
(1) Post mortem done to know the cause of death
(2) Examining in unconscious state
(3) Separating tssues from the body for examination
(4) Treating h}rdrophnbia
e (Biopsy) R 2
1) G P FRO S B Py v ReE &3 9
(2) e @ Rafd o wEm el

(3) e  forg T &1 TR @ FFT FA A

(4) @WWWW@

(38)
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174, After birth in humans in which tissue there is no cell division ?

(1) Skeleton (2) Nerve (3) Connective (4) Genital
T B A% A @ R Fae A @18 @R famrem 78 Oar 2 7
(1) sae (2) dfaer - (3) Huieh (4) &=
175. Match List-1 with List-II and choose the correct answer from the code given
below :
List-I (Discoverer) List-II (Discovery)

A Gener i Blood Group

B. Watson ii Penicillin

B Landsteiner fii Vaccinization

D. Fleming iv Double helix
Code :

A B C D

M i B v

@ i v f

(3) Wi iv i it

@ @i i v -

-1 o111 P R Prert B ok A R g @ v see g
-1 (@) 11T (o)

A R i HiER 7
B G i offufem
C AR tii ST
D Tl v \%@"3?4?
Be :
AB © B
(1) ii 1 i iv
() iii v i i
(3) iti v 1 i
(4) ii it v 1
(39)
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176.

177.

178.

179,

180.

181.

Ficns is an exampte of which kind of inflorescence ?

(1) Spike (2) Raceme

(3) Cyathium (4) Hypanthodium
BIEEH B0 ek @ UMigh¥ b IZTTEXYT 8 7

(1) €IS (2) WM

(3) wrEfegH (4) BEU=NSTR

Bicarpellary gynoecium and oblique ovary occurs in : |
(1) Mustard (2) Brinjal (3) Wheat (4} Onion
fryvedt T UG QRS FUETTY T WOl § | |
(1 @l @ ) & 3 (3) XA (4) @ A
Photorespiration takes place in :

(1) Mitochondria (2) Giynx}rsor.nes

(3) Peroxisomes (4) Golgi bodies

Ty TEa foad g & 7

(1) Argeraiigal (2) TEHTAHA

(3) wR3ERFEAI (4) meh A8

The first CO; acceptor in C; plants 1s

C, 9t & CO, &7 ws Wit 2 ¢

(1) PEP. (2) RuB.P. (3) P.G. A. 4) O.A.A.
The hormone present in the liquid endosperm of coconut is :
(1) Ethylene (2) Gibberellin (3) Auxin (4) Cytokinin
iR @ R yETry ¥ o S aren g 8
(1) e (2) RraReil (3) sif (4) wgETERE
‘Molecular Scissors' used in genetic engineering is : |
(1) D.N. A, Polymerase (2) D.N. A.Ligase
(3) Restriction endonuclease (4) Helicase '
(1] ‘@.;) ’\ﬁ[ﬂ QQ tﬁm (2) @10 T‘D Jo m

4) #
() SRETA T ) ‘i

(40)
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182. InIndia, tropical rain forests are found in :
(2) Andaman
(4) Jammu and Kashmir

183,

184,

185.

186.

(1) Darjeeling
(3) Rajasthan

HRT 4 SoafeRiy o ar oy # -

1) fifem %
(3) oTRIT

The major source of methane in India is :

(1) Rice Fields
(3) Sugarcane

ﬂﬁﬁﬁwwwmfz

(1) o9 & &g
(3) T=m

Opium is obtained from:

(1) dried leaves

(3) latex from unripe fruits
IOH W P A -

(1) 3& oRzi |

(3) R 7@ Fel B sk @

Sunhemp is obtained from :

(1) Crotolaria juncea

(3) Musa textilis

W o o o
(1) @rERRa Gy
(3) g7 eRverEforT ¥
Amino acids are :

(1) Negatively charged

(3) Zwitterions ...

(2) avear &
(4) ] @@ FehR A

(2) Wheat Fields
(4) Fruit Orchards

(2) g F o
(4) ol & o

(2) roots
(4) latex from ripe fruits

(2) et |
(4) 9B H & s R

(2) Cannabis sativa
(4) Cocos nucifera

(2) Padw werzar &
(4) wrwE <Y -

(2) Positively charged
(4) Cations

17U/116/20(Set-3)
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187.

188.

189.

190.

191.

192.

e o e B [ O
(1) FoTeHd At
(3) udrex s

In ferns, the xylem is :

(1) Exarch (2} Mesarch
Bl o €T Bl
(1) Tadld @) faaa

(2) TS e
© (4) BTETH

(3) Endarch (4) Polyarch

(3) TeTd (4) drefiana®

L ycopodium is commonly known as

(1) Horse tail (2) Club moss

(3) Quill wort (4) Stone wort

WJWWWWW%: r —
(1) 7 2o (2) Fd AN (3) ot .
Pollination in cycas takes place through : | &

(1) Ant (2) Water (3) Bat

regy ¥ qrr g

(1) dea gr 2) T ER (3) TETES ER1 (4) EER

During meiosis, crossing Over takes place at:

(1) Leptotene stage
(3) Pachytere stage

HEE U & @Ha P AE
(1) TAEA TR T
(3) T s

Primary precussor of L A-A.ls:

(1) Tryptophan (2) Tyrosine

(2) Zygotene stage
(4) Diplotene stage
B ©

(3) Leucine (4) Methionine

(3) (@) A

Link petween Glyculysi:i and Kreb's cycleis:

(1) Citric acid
(3) Acetyl Co-A

(2) Succinic acid
(4) Fumaric acid

(42)
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